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P - I (1+1+1) G / 20 (N)

2020

ECONOMICS (General)
Paper Code : I - A & B

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : I - A
Full Marks : 50 Time : One Hour

Choose the correct answer.

Each question carries 2 marks.

1. The law of demand states that an increase in the price of a good —

(A) Increases the supply of that good

(B) Raises the demand for that good

(C) Reduces the demand for the good

(D) Reduces the supply of the good

1Ð ‰þy!£”yîû ¢)e x %̃ëyëû#– ~„þ!Ýþ oöìîÄîû ”y› îyvþüöìœ éôôôé

(A) oöìîÄîû öëy†y˜ îyöìvþü

(B) oöìîÄîû ‰þy!£”y îyöìvþü

(C) oöìîÄîû ‰þy!£”y „þöì›

(D) oöìîÄîû öëy†y˜ „þöì›

2. If two goods are complementary to each other, the value of cross-price
elasticity of demand is —

(A) Zero

(B) Positive

(C) Negative

(D) One
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2Ð ë!” ”%!Ýþ oîÄ ~öì„þ xþ™öìîûîû þ™!îûþ™)îû„þ oîÄ (Complementary) £ëû– “þöìî “þyöì”îû ‰þy!£”yîû
þ™yîûßþ™!îû„þ ”y›†“þ !ßþi!“þßþiyþ™„þ“þyîû ›y˜ £öìî éôôôé

(A) Ÿ)̃ Ä

(B) •˜yd„þ

(C) }’yd„þ

(D) ~„þ

3. When Total Utility is maximum, value of Marginal Utility is —

(A)  Zero

(B)  One

(C)  Negative

(D)  Infinity

3Ð ö›yÝþ vþzþ™öìëy!†“þy ¢îÅy!•„þ £öìœ– ²Ìy!hsþ„þ vþzþ™öìëy!†“þy £öìî éôôôé

(A) Ÿ)̃ Ä

(B) ~„þ

(C) }’yd„þ

(D) x¢#›

4. In case of inferior goods, income elasticity of demand is —

(A) Zero

(B) One

(C) Negative

(D) Infinity
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4Ð !˜„,þÜT oöìîÄîû öÇþöìe– xyöìëûîû !ßþi!“þßþiyþ™„þ“þy £ëû éôôôé

(A) Ÿ)̃ Ä

(B) ~„þ

(C) }’yd„þ

(D) x¢#›

5. In the long run, fixed cost incurred by a firm becomes —

(A) Minimum

(B) Zero

(C) Maximum

(D) One

5Ð ”#‡Å„þyöìœ ö„þyöì̃ y šþyöì›Åîû !ßþiîû îÄëû £öìëû ëyëû éôôôé

(A) )̃Ä˜“þ›

(B) Ÿ)̃ Ä

(C) ¢îÅy!•„þ

(D) ~„þ

6. The shape of perfectly elastic demand curve for normal good will be —

(A) Downward sloping

(B) Upward rising

(C) Parallel to X-axis

(D) Parallel to Y-axis

6Ð þ™)’Å !ßþi!“þßþiyþ™„þ ‰þy!£”y öîû…yîû xy„,þ!“þ £öìî éôôôé

(A) !˜Á¬†y›#

(B) |•¹Å†y›#

(C) X-éxöìÇþîû ¢›yhsþîûyœ

(D) Y-xöìÇþîû ¢›yhsþîûyœ
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7. Homogeneous products are sold by each seller in —

(A) Perfect Competition Market

(B) Monopoly Market

(C) Monopolistic Market

(D) Oligopoly Market

7Ð ²Ì!“þ!Ýþ !îöìe«“þy ¢›îû*þ™# oîÄ=!œ !îe«ëû „þöìîû̃  éôôôé

(A) þ™)’Å ²Ì!“þöìëy!†“þy îy‹yöìîû

(B) ~„þöì‰þ!Ýþëûy îy‹yöìîû

(C) ~„þöì‰þ!Ýþëûy ²Ì!“þöìëy!†“þy îy‹yöìîû

(D) x!œöì†yþ™!œ îy‹yöìîû

8. Average cost (AC) of a firm equals Marginal Cost (MC), when —

(A) AC is falling

(B) MC is falling

(C) MC is at its minimum

(D) MC is rising

8Ð ~„þ!Ýþ šþyöì›Åîû †vþü îÄëû– ²Ìy!hsþ„þ îÄöìëûîû ¢›y˜ £ëû ë…˜ éôôôé

(A) †vþü îÄëû e«›Ÿ „þ›öìŠé

(B) ²Ìy!hsþ„þ îÄëû „þ›öìŠé

(C) ²Ìy!hsþ„þ îÄëû ¢îÅ!˜Á¬

(D) ²Ìy!hsþ„þ îÄëû îyvþüöìŠé

9. A firm under perfect competition is a —

(A) Price taker

(B) Price maker

(C) Both (A) and (B)

(D) None of the above
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9Ð þ™)’ÅyD ²Ì!“þöìëy!†“þyîû x•#öì̃  ~„þ!Ýþ šþy›Å £öìœy éôôôé

(A) ›)œÄ@ùÌ£#“þy

(B) ”y›!˜›Åy“þy

(C) vþzþ™öìîûîû ”%!Ýþ£z

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

10. Price discrimination is the unique feature of —

(A) Perfect Competition market

(B) Monopoly

(C) Monopolistic Competition

(D) Oligopoly market

10Ð ”y›éôéö¦þ” ö„þy ä̃ îy‹yöìîûîû ~„þ!Ýþ x˜Ä“þ› ÷î!ŸÜTÄ éôôôé

(A) þ™)’ÅyD ²Ì!“þöìëy!†“þyîû îy‹yîû

(B) ~„þöì‰þ!Ýþëûy îy‹yîû

(C) ~„þöì‰þ!Ýþëûyéôé²Ì!“þöìëy!†“þyîû îy‹yîû

(D) x!œöì†yþ™!œ îy‹yîû

11. According to Keynes, consumption in an economy is the function of —

(A) Income

(B) Rate of Interest

(C) Savings

(D) None of the above

11Ð ö„þ£z̃ öì¢îû ›öì“þ– ~„þ!Ýþ xíÅ̃ #!“þöì“þ vþzþ™öì¦þy† (Consumption) !˜¦Åþîû „þöìîû éôôôé

(A) xyëûéôé~îû vþzþ™îû

(B) ¢%öì”îû £yîûéôé~îû vþzþ™îû

(C) ¢Mþéëûéôé~îû vþzþ™îû

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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12. Which of the following is not a quantitative method of credit control adopted
by the central bank?

(A) Open Market Operation

(B) Bank Rate

(C) Cash Reserve Ratio

(D) Moral Suasion

12Ð ˜#öì‰þ vþzöìÍÔ!…“þöì”îû ›öì•Ä ö„þy ä̃!Ýþ ö„þw#ëû îÄyBþ myîûy †,£#“þ öe«!vþÝþ !˜ëûsþföì’îû þ™!îû›y’†“þ
þ™kþ!“þ (Quantitative Method) ˜ëûÚ

(A) çöìþ™˜ ›yöì„ÅþÝþ xþ™yöìîûŸ˜

(B) îÄy‚„þ öîûÝþ

(C) ˜†” !îû‹y¦Åþ x %̃þ™y“þ

(D) x %̃̃ ëûéôé!î˜ëû

13. NNP GNP ........... 

(A) Taxes

(B) Subsidy

(C) Depreciation

(D) Net Factor Income from Abroad (NFIA)

13Ð NNP GNP ........... 

(A) „þîû

(B) ¦þ“%Åþ!„þ

(C) xî‰þëû (Depreciation)

(D) !îöì”Ÿ öíöì„þ ö˜Ýþ šþÄyQîû xyëû (NFIA)
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14. An example of transfer payment is —

(A) Wages

(B) Profit

(C) Old age pension

(D) Rent

14Ð £hßþyhsþ!îû“þ xyöìëûîû ~„þ!Ýþ vþz”y£îû’ £öìœy éôôôé

(A) ›‹%!îû

(B) ›%̃ yšþy

(C) î,kþéôé¦þy“þy

(D) …y‹˜y

15. Which of the following is the function of money?

(A) Medium of exchange

(B) Unit of account

(C) Store of value

(D) All of the above

15Ð ö„þy ä̃!Ýþ ›%oyîû ~„þ!Ýþ „þyëÅ éôôôé

(A) !î!˜›öìëûîû ¢y•˜

(B) !£¢yöìîîû ~„þ„þ

(C) ›)öìœÄîû ¢Mþéëû

(D) vþzþ™öìîûîû ¢î„þ!Ýþ
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16. “Supply creates its own demand” — is the statement of which law?

(A) Law of Demand

(B) Law of Supply

(C) Say’s Law

(D) Law of Variable Proportions

16Ð òòöëy†y˜ “þyîû !˜‹ßþº ‰þy!£”y ÷“þ!îû „þöìîûóóéôôôé ö„þy ä̃ ¢)öìeîû î_«îÄÚ

(A) ‰þy!£”yîû ¢)e

(B) öëy†yöì̃ îû ¢)e

(C) ö¢éôé~îû ¢)e

(D) þ™!îûî“Åþ˜Ÿ#œ x %̃þ™yöì“þîû ¢)e

17. Rise in consumption due to a unit increase indisposable income is called —

(A) Average Propensity to Consume (APC)

(B) Marginal Propensity to Consume (MPC)

(C) Average Propensity to Save (APS)

(D)  Marginal Propensity to Save (MPS)

17Ð îÄ!_«îû xyöìëûîû ~„þ„þ þ™!îû›y’ î,!kþ þ™yçëûyîû šþöìœ vþzþ™öì¦þyöì† î,!kþöì„þ îœy £ëû éôôôé

(A) †vþü vþzþ™öì¦þy† ²Ìî’“þy

(B) ²Ìy!hsþ„þ vþzþ™öì¦þy† ²Ìî’“þy

(C) †vþü ¢Mþéëû ²Ìî’“þy

(D) ²Ìy!hsþ„þ ¢Mþéëû ²Ìî’“þy
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18. Constant rise in general level of price in an economy is called —

(A) Inflation

(B) Deflation

(C) Stagflation

(D) Recession

18Ð ”y›hßþöìîû œy†y“þyîû î,!kþîû ‡Ýþ˜y £öìœy éôôôé

(A) ”y› ²Ì¢yîû

(B) xþ™¢yîû’

(C) ßþi!îîû“þy

(D) ›¨y

19. Which of the following is the apex institution of the monetary system of an
economy ?

(A) Commercial Bank

(B) Post Office

(C) Central Bank

(D) Non Bank Financial Institution

19Ð ö„þyöì̃ y xíÅ̃ #!“þîû î,_#ëû ²Ì’yœ#îû Ÿ#¡ìÅ ¢‚ßþiy £öìœy éôôôé

(A) îy!’‹Ä îÄy‚„þ

(B) öþ™yÞÝþ x!šþ¢

(C) ö„þw#ëû îÄy‚„þ

(D) ˜˜ îÄy‚„þ î,_#ëû ¢‚ßþiy
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20. NABARD was established in the year —

(A) 1980

(B) 1981

(C) 1982

(D) 1990

20Ð ˜yîyvÅþ (NABARD) ²Ì!“þ!Ûþ“þ £öìëû!Šéœ ö„þy ä̃ ¢yöìœÚ

(A) 1980

(B) 1981

(C) 1982

(D) 1990

21. Which of the following is the cause of low productivity in Indian agriculture —

(A) Use of chemical fertilizers

(B) Proper irrigation facilities

(C) Small size of land holdings

(D) Use of HYV seeds

21Ð !˜Á¬!œ!…“þ=!œîû ›öì•Ä ö„þy ä̃!Ýþ ¦þyîû“þ#ëû „,þ!¡ìîû !˜Á¬ vþzêþ™y”˜Ÿ#œ“þyîû „þyîû’ Ú

(A) îûy¢yëû!˜„þ ¢yîû îÄî£yîû

(B) vþzþ™ë%_« ö¢‰þ ¢%!î•y

(C) Ç%þo ‹!›îû ›y!œ„þy˜y

(D) HYV î#öì‹îû îÄî£yîû
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22. Which of the following is the feature of Green Revolution in India ?

(A) Use of HYV seeds

(B) Use of Chemical Fertilizers

(C) Use of Irrigation Facilities

(D) All of the above

22Ð !˜Á¬!œ!…“þ=!œîû ›öì•Ä ö„þy ä̃!Ýþ ¦þyîûöì“þîû ¢î%‹ !î²Õöìîîû ÷î!ŸÜTÄÚ

(A) HYV î#öì‹îû îÄî£yîû

(B) îûy¢yëû!˜„þ ¢yîû îÄî£yîû

(C) ö¢‰þ ¢%!î•y îÄî£yîû

(D) vþzþ™öìîûîû ¢î=öìœy

23. The cause of high population growth in India is —

(A) Rise in Birth-Rate

(B) Fall in Death-Rate

(C) Increased immigration

(D) All of the above

23Ð ¦þyîûöì“þ vþzF‰þ ‹˜¢‚…Äy î,!kþîû „þyîû’ £öìœy éôôôé

(A) ‹§Ãéôé”îûéôé~ “þ#îÊ î,!kþ

(B) ›,“%þÄéôé”îûéôé~ “þ#îÊ £Éy¢

(C) x!¦þîy¢˜ î,!kþ

(D) vþzþ™öìîûîû ¢î„þ!Ýþ
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24. Seasonal unemployment is found in —

(A) Agricultural sector

(B) Manufacturing sector

(C) Service sector

(D) None of the above

24Ð ö›ï¢%›# öî„þyîûc ö”…y ëyëû éôôôé

(A) „,þ!¡ìöìÇþöìe

(B) !ŸÒöìÇþöìe

(C) þ™!îûöì¡ìîyöìÇþöìe

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþöì“þ ˜ëû

25. As per Census 2011, people living below poverty line (BPL) in India is —

(A) 40%

(B) 29.8%

(C) 18.8%

(D) 8.8%

25Ð 2011 ‹˜†’˜y x˜%ëyëû#– ¦þyîûöì“þ ”y!îûoÄ öîû…yîû ˜#öì‰þ î¢îy¢„þyîû# öœyöì„þîû Ÿ“þ„þîûy
þ™!îû›y’ £öìœy éôôôé

(A) 40%

(B) 29.8%

(C) 18.8%

(D) 8.8%
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P - I (1+1+1) G / 20 (N)

2020

ECONOMICS (General)
Paper Code : I - B
[New Syllabus]

Full Marks :100 Time : Three Hours

The figures in the margin indicate full marks.

Section - I

  1. Answer six questions taking any two from each of the groups : 5×6=30

Group - A

(a) Explain the concept of “Giffen Paradox”.

(b) What do you mean by price elasticity of demand ? Write its two uses.

(c) Why is short-run average cost (AC) curve U-shaped ?

(d) Discuss the features of perfect competition market.

Group - B

(a) Discuss the primary functions of money.

(b) Distinguish between the concepts of GDP and GNP.

(c) Explain the concept of Effective Demand.

(d) Discuss the Fisher’s version of quantity theory of money.

Group - C

(a) Discuss the causes of poverty in India.

(b) Discuss the features of Indian economy as an underdeveloped one.

(c) What suggestions will you make to reduce unemployment situation in India?

(d) What are the causes of population explosion in India?
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Section - II

Answer the following questions :  10×3=30

2. Show with the suitable example that price effect is the sum of income and
substitution effect.

Or,

State and explain the Law of Variable Proportion.

3. Distinguish between Demand-pull and Cost-push inflation with the help of
suitable diagrams.

Or,

Explain diagrammatically the Classical Theory of Employment.

4. Discuss the role of NABARD in providing rural credit in India.

Or,

Explain the causes of low productivity in Indian agriculture.

Section - III

Answer any two of  the following questions : 20×2=40

5. (a) What is an indifference curve ? Discuss the properties of an indifference
curve.

(b) Show how a consumer reaches its equilibrium with the help of budget line
and indifference map? 10+10

6. Explain critically the Keynesian Theory of Income and Employment. 20

7. (a) Discuss the land reform activities in India.

(b) Discuss the merits and demerits of the “Operation Barga” Act in West
Bengal. 10+10

8. (a) Explain the value added method for measuring national income of a country.

(b) What are the difficulties in measuring national income of a country ?
10+10
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îDy %̃îy”

ö¢„þŸ˜ éôé 1

1Ð ²Ì!“þ!Ýþ !î¦þy† öíöì„þ ”%!Ýþ „þöìîû !˜öìëû ö›yÝþ Šéëû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 5×6=30

!î¦þy† éôé „þ

S„þV !†öìšþ˜ !îöìîûy!•“þy (Giffen Paradox) •yîû’y!Ýþ îÄy…Äy „þöìîûyÐ

S…V ‰þy!£”yîû ”yöì›îû !ßþi!“þßþiyþ™„þ“þy îœöì“þ !„þ öîyöìGþyÚ ~£z •yîû’yîû ”%!Ýþ îÄî£yîû öœöì…yÐ

S†V ßþºÒ„þyöìœ †vþü îÄëû (AC) öîû…y U-xy„,þ!“þ £ëû– ö„þ˜Ú

S‡V þ™)’Å ²Ì!“þöìëy!†“þy îy‹yöìîûîû ÷î!ŸÜTÄ=!œ xyöìœy‰þ˜y „þöìîûyÐ

!î¦þy† éôé …

S„þV xöìíÅîû ²Ìyí!›„þ „þyëÅyîœ# xyöìœy‰þ˜y „þöìîûyÐ

S…V GDP ç GNPéôé~îû ›öì•Ä þ™yíÅ„þÄ !„þÚ

S†V „þyëÅ„þyîû# ‰þy!£”yîû (Effective Demand) •yîû’y!Ýþ îÄy…Äy „þöìîûyÐ

S‡V !šþŸyîûéôé~îû xöìíÅîû þ™!îû›y’ “þ_!́Ýþ îÄy…Äy „þöìîûyÐ

!î¦þy† éôé †

S„þV ¦þyîûöì“þ îÄy® ”y!îûöìoÄîû „þyîû’=!œ xyöìœy‰þ˜y „þöìîûyÐ

S…V x %̃§¬“þ xíÅ̃ #!“þ !£öì¢öìî ¦þyîûöì“þîû ÷î!ŸÜTÄ=!œ xyöìœy‰þ˜y „þöìîûyÐ

S†V ¦þyîû“þ#ëû xíÅ̃ #!“þöì“þ öî„þyîûc „þ›yöì̃ yîû ‹˜Ä “%þ!› !„þ !„þ vþzþ™yëû þ²Ìhßþyî „þîûöìîÚ

S‡V ¦þyîûöì“þ ‹˜¢‚…Äy !îöìßþ³þyîû’ (Population Explosion)éôé~îû „þyîû’=!œ xyöìœy‰þ˜y
„þöìîûyÐ
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ö¢„þŸ˜ éôé 2

˜#öì‰þîû ²ÌÙÀ=!œîû vþz_îû ”yç ­ 10×3=30

2Ð vþzþ™ë%_« vþz”y£îû’¢£ ö”…yç öë ”y› ²Ì¦þyî £öìœy– xyëû ²Ì¦þyî ç þ™!îûî“Åþ ²Ì¦þyöìîîû öëy†šþœÐ

xíîy–

vþzêþ™y”öì̃ îû þ™!îûî“Åþ˜#ëû x %̃þ™yöì“þîû ¢)e!Ýþ îÄy…Äy „þöìîûyÐ

3Ð öîû…y!‰þöìeîû ¢y£yöìëÄ ‰þy!£”yéôé‹!˜“þ ç îÄëûéôé‹!˜“þ ›%oyéôé²Ì¢yîûéééôé~îû ›öì•Ä þ™yíÅ„þÄ ö”…yçÐ

xíîy–

öîû…y!‰þöìeîû ¢y£yöìëÄ „Ïþy!¢„þyœ !˜öìëûy† “þ_!́Ýþ îÄy…Äy „þöìîûyÐ

4Ð ¦ þ y î ûö ì“ þ  @ ùÌ y › # ’  } ’  ² Ì ” y ö ì̃ î û ö Ç þ ö ìe  ˜ y î y v Åþ (NABARD)éôé~îû ¦)þ!›„þy xyöìœy‰þ˜y „þöìîûyÐ

xíîy–

¦þyîûöì“þîû „,þ!¡ìöìÇþöìe ßþºÒ vþzêþ™y”˜Ÿ#œ“þyîû „þyîû’=!œ xyöìœy‰þ˜y „þöìîûyÐ

ö¢„þŸ˜ éôé 3

öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 20×2=40

5Ð S„þV !˜îûöìþ™Çþ öîû…y îœöì“þ !„þ öîyöìGþyÚ !˜îûöìþ™Çþ öîû…yîû ÷î!ŸÜTÄ=!œ xyöìœy‰þ˜y „þöìîûyÐ

S…V ö„þy˜ç ö¦þy_«y „þ#¦þyöìî îyöì‹Ýþ œy£z˜ ~î‚ !˜îûöìþ™Çþ ›y˜!‰þöìeîû ¢y£yöìëÄ “þyîû
¦þyîû¢y›Ä!Ýþöì“þ öþ™¤ïŠéyëûÚ 2+8+10

6Ð ¢›yöìœy‰þ˜y¢£ ö„þ£zì̃ ¢#ëû xyëû ç !˜öìëûy† “þ_!́Ýþ îÄy…Äy „þöìîûyÐ 20

7Ð S„þV ¦þyîûöì“þ ¦)þ!› ¢‚ßþñyîû „þ›Å¢%‰þ#=!œ ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þöìîûyÐ

S…V þ™!Øþ›îöìD òòxþ™yöìîûŸ˜ î†Åyóó xy£zöì̃ îû ¢%!î•y ç x¢%!î•y=!œ xyöìœy‰þ˜y „þöìîûyÐ
10+10

8Ð S„þV ~„þ!Ýþ ö”öìŸîû ‹y“þ#ëû xyëû þ™!îû›yöìþ™îû ‹˜Ä ›)œÄ ¢‚öìëy‹˜ þ™kþ!“þ îÄy…Äy „þöìîûyÐ

S…V ~„þ!Ýþ ö”öìŸîû ‹y“þ#ëû xyëû þ™!îû›yþ™ „þîûöì“þ x¢%!î•y=!œ „þ# „þ#Ú 10+10

¦þyîûöì“þ @ùÌy›#’ }’ ²Ì”yöì˜îû öÇþöìe ˜yîyvÅþ


